
f(x) =

∞∑
n=0

(an cosωnx+ bn sinωnx) where ωn =
nπ

L

Take the limit as L→∞

f(x) =

∫ ∞
0

(A(ω) cosωx+B(ω) sinωx) dω



f(x) =

∫ ∞
0

(A(ω) cosωx+B(ω) sinωx) dω

=

∫ ∞
0

(
A(ω)

(
eiωx + e−iωx

2

)
+B(ω)

(
eiωx − e−iωx

2i

))
dω

=

∫ ∞
0

A(ω)− iB(ω)

2
eiωxdω +

∫ ∞
0

A(ω) + iB(ω)

2
e−iωxdω

=

∫ ∞
0

A(ω)− iB(ω)

2
eiωxdω +

∫ 0

−∞

A(ω)− iB(ω)

2
eiωxdω

=

∫ ∞
−∞

A(ω)− iB(ω)

2
eiωxdω



Let s = −ω∫ ∞
0

A(ω) + iB(ω)

2
e−iωxdω =

∫ 0

−∞

A(−s) + iB(−s)
2

eisx ds

=

∫ 0

−∞

A(s)− iB(s)

2
eisx ds

=

∫ 0

−∞

A(ω)− iB(ω)

2
eiωx dω



f(x) =

∫ ∞
−∞

A(ω)− iB(ω)

2
eiωxdω

A(ω) =
1

π

∫ ∞
−∞

f(x) cosωxdx B(ω) =
1

π

∫ ∞
−∞

f(x) sinωxdx

A(ω)− iB(ω)

2
=

1

2π

∫ ∞
−∞

f(x)(cosωx− i sinωx) dx

=
1

2π

∫ ∞
−∞

f(x)e−iωx dx



f(x) =

∫ ∞
−∞

(
1

2π

∫ ∞
−∞

f(x)e−iωx dx

)
eiωx dω



f(x) =
1√
2π

∫ ∞
−∞

(
1√
2π

∫ ∞
−∞

f(x)e−iωx dx

)
eiωx dω



f(x) =
1√
2π

∫ ∞
−∞

(
1√
2π

∫ ∞
−∞

f(x)e−iωx dx

)
eiωx dω

Define the Fourier transform F(f(x)) to be:

F(f(x)) = f̂(ω) =
1√
2π

∫ ∞
−∞

f(x)e−iωx dx



f(x) =
1√
2π

∫ ∞
−∞

(
1√
2π

∫ ∞
−∞

f(x)e−iωx dx

)
eiωx dω

Define the Fourier transform F(f(x)) to be:

F(f(x)) = f̂(ω) =
1√
2π

∫ ∞
−∞

f(x)e−iωx dx

f(x) =
1√
2π

∫ ∞
−∞

f̂(ω)eiωx dω

This last integral is the inverse Fourier transform of f̂(ω).


